0.1 X 10 =

0.2 X 10 = 2
0.5 X 10 = 5
0.9 X 10 = 9
1.5 X 10 = 15
0.22 X 10 = 2.2
0.222 X 10 = 2.22
0.22 X100 - 22
2.22 + 100 - 0.0222
22.02 X 1000 = | 22020
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47.04 X 10 - 470.4
47.004 X 10= | 470.04
47.04 + 10 - 4.704
47.04 + 100 - 0.4704
0.1 + 10 - 0.01
0.1 + 100 - 0.001
0.04 +10 0.004
4.04 +100 - 0.0404
£9.40 X 10 - £94.00
£220 X 100- | £220
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£94.00 X 100 — £9400
£94.00 ~ 10 - £9.40
£330.00 = 10 = £33.00
£300.30 = 10 = £30.03
£200 = 100 - £2.00
£220.00 = 100 - £2.20
£2.00 = 100 - £0.02
2p X 1000 = £20
30p X 100 = £30.00
£500 = 1000 50p
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